[ Efficiency vs vertpos |

- 0.2 ,
STIPTS SR: R— — -
ek : : :

O e e T
o = : : :

§0.14F i Freeneeeend e
o .k : : :

§OA2E oot S oo
K e SR e
0.08 JETREREREES Feeeeeeeeen e
0.06E7 '

Ratio

Efficiend

NI O
$0.09
[
>0.08
>
2
50.07
o
£0.06
[}
0.05
0.04
0.03
0.02 :
0.01 |}
JuG_I 1 h b

Ratio

okl f+“***“ﬂ“+*ﬂ+if--

-30 -20 -10 0 10 20 30

2

1 |pzood
oo

..............................................

bl I 'L' ....... |k.|: be .E

B .7.
¥

TP vert z (cm)

[ Efficiency vs. sim PV z |

~n 0.2
>
0 0.18F

E

efticie

Ratio

5 0.16F
20.14F
2 F
20.12F

0.1F
0.08F
0.06F
0.04F
0.02F
LOF

0.8+ eeee] :
-20 =15 10 —5 0 5 10 15 20

1:_ ..... A

Sim. PV z (cm)




	Contents
	Page 1


